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Choose the correct answer and write it on the answer sheet on page 2 
 

1. The expansion of   )23)(54( xx −+ = 

 a) 210712 xx −−    b)  210712 xx +−   

 c) 210712 xx −+                      d)  210712 xx ++  

 

 

2. The factorization of    1662
−+ xx   = 

 a)   )2)(8( −− xx     b) )2)(8( ++ xx      

 c)   )2)(8( −+ xx     d)  )2)(8( +− xx  

 

 

3. The solutions of the equation   0232
=+− xx       are 

 a)   21 −=−= xx ,     b)  21 == xx ,     

 c)   21 =−= xx ,     d)  21 −== xx ,  

 

4. The simplification of  

2

3

21

4

5













 −

z

yx
   = 

 a)   
62

4

16

25

zx

y
    b)  

26

4

16

25

zx

y
    

 c)   
6

4

8

10

z

yx
    d)   

6

4

4

5

zx

y
 

 

 

5. The simplification of  
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6. The simplification of  
147

3

+
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 a)   
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7. The solutions of  the equation   0332
=−− xx    are  

 a)   213 ±=x     b)  
2

213 ±−
=x    

 c)   
2

213 ±
=x     d)  

2

33 ±
=x  

 

 

 

8. From the Venn diagram,  =∪∩ BCA )(  

 a)   }nd,,i,q,b{      

 b)  }d,i,q{      

 c)   }gf,d,,n,q,b,h,a{     

 d)  }n,i,q,b{   

 

 

9. If }9,5,2,1,0{=A , }9,8,7,2,1{=B  and }10,9,8,7,6,5,4,3,2,1,0{=U , then =′∩′ BA  

 a)   }10,8,7,6,4,3{    b) }10,8,7,6,5,4,3,0{      

 c)   }10,6,5,4,3,0{    d)  }10,6,4,3{  

 

 

10. If }6|{ ≤∈= xNxxA   with , where N  is the set of natural numbers, then  

 a)   }5,4,3,2,1{=A    b) }5,4,3,2,1,0{=A     

 c)   }6,5,4,3,2,1{=A    d)  }6,5,4,3,2,1,0{=A  
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11. The subtraction of the following two binary numbers =−101110101      

 a)   1100     b)   1010    

 c)   1011     d)   1001 

 

 

12. The multiplication of the following two binary numbers =×11011011    

 a)  10001111    b)   1001110  

 c)  1001101    d)   10010111 

 

 

13. If    

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
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=








25
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3

v

u
  then the values of  u   and  v   are 

 a)   7,6 == vu     b)  5,3 == vu     

 c)   3,5 == vu     d)   6,7 == vu  
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15. If   

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T.J. -6- 

16. =

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    d)   






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17. If   32)( += xxf  and 5)( 2
−= xxg   then =))2(( fg    

 a) 1      b)  3     

 c)  44      d)   54  

 

 

18. If   105)( −= xxf ,  then  )(
1

xf
−−−−  = 

 a)  2
5

+
x

    b)   
10

1

5

1
+x    

 c)   105 +− x    d)   
105

1

−x
 

 

 

19. The function  1)( 4
+= xxf     is  

 a)   an odd function only   b)   an even function only     

 c)  both an even and odd functions d)   neither an even nor an odd function  

  

 

20. If   23)( −= xxf  and  2)1()( += xxg    then   =−+ )2()2( gf    

 a)  0      b) 5  

  c) 4     d) 9 
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21. If   152)( 44
+−=

−xxxf      then  ====′′′′ )(xf  

 a) 53 48 −
+ xx     b)  33 44 −

+ xx   

 c)  44 48 −
+ xx     d)   33 48 −

− xx  

 

 

22. If   
5 3ty = ,  then  =

dt

dy
    

 a)   5/2

5

3 −
t     b)   5/2

3

5 −
t   

 c)  3/2

5

3
t      d)   3/2

3

5
t  

 

 

23. If   726
++= xxy ,  then  =

2

2

dx

yd
    

 a)   xx 26 5
+     b)   430x   

 c)  230 +x     d)   230 4
+x  

 

 

24. The function  xxy 82 2
+=    has a  minimum at  

 a) 
2

1
=x      b)  

2

1−
=x   

 c)  2−=x      d)   2=x  

 

 

 

25. The gradient (slope) of  the tangent line to the curve   293 3
+−= xxy   when   0=x    is 

 a)   9−      b)  18    

 c)  2      d)  9  
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26. The height, h , of a grass is given by 56)( 2
++−= ttth , where t  is the time measured in 

 days. The maximum height of the grass h  is  when =t  

 
 a) 5  days     b)  3  days   

 c)  11 days    d)  8  days 

 

27. ∫ =−+ dxxx )873( 23   

 a) xx 149 2
+     b)  Cxxx +−+ 834   

 c)   Cxxx +−+ 8149 34    d)   Cxxx +−+ 8
3

7

4

3 34  

 

28. =+∫
3

0

)52( dxx   

 a) 9      b)  11   

 c)  24      d)   15 

 

 

29. The particular solution of the differential equation  123)( 2
++=′ xxxf  at  the point (1, 5) is  

 a)   xxxxf ++=
23)(    b)  5)( 23

+++= xxxxf   

      c)   2)( 23
+++= xxxxf   d)   1)( 23

+++= xxxxf  

 

30. The shaded area between the curve 2xy =   and the x-axis from 2=x  to  4=x  is equal  

 a) 
3

64
      

 b) 
3

56
  

 c)  
3

63
      

 d)  
3

65
            

         
 

y=x
2 



T.J. -9- 

Draft Page 


